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- K] 37,777 6,240 1,277 507,952 553,246

=k 36,999 5,839 1,216 475,164 519,218
= k] 37,912 6,237 1,286 493,197 538,632
pa-E] 39,616 6,053 1,256 478,695 525,620
T E] 39,282 6,211 1,266 488,574 535,333
o E] 41,201 6,015 1,254 479,768 528,238
= E] 36,044 6,225 1,252 457,794 501,315
A 40,590 6,224 1,267 507,258 555,339
Ju K] 34,611 6,021 1,221 484,387 526,240
4 E] 33,791 6,220 1,247 510,008 551,226
- = k] 36,736 5,867 1,222 500,643 544,468
4 = ] 37,007 6,224 1,260 533,468 577,959
M OF 451,566 73,376 15,024 5,916,908 | 6,456,874




